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FFAEE KRET—RKEEDERLASS OKE) EREEIER
S AR AR B AR A A AL (A 1 [EHIE 53 )
" . "™ BER| HiE | 2 53[a] ARl | FE[E 56[a] FTE | FEsIE Folal | Fg1oml | H11mEl [ EE120E
FLUE(E 4/22 5/27 6/10 7/1 8/5 9/9 10/7 11/2 12/20 1/27 2/17 3/10
p HOKFHEA A IR ) 5.8~8.6 7.6 7.6 7.8 7.8 7.6 7.6 7.6 7.6 7.5 7.9 7.6 7.9
BOD (ZE 41k 5 22 oKk ) mg/0 60 0.5 | 0.5A0#| 0. 54T 0.9 0.5 0.5 | 0.5 0.7 | 0.5AK%| 0.5 0. 540 0.6
COD ({5 ik 38 SR ) mg/0 90 0. 5A i 0.5 0.5 0.7 0.6 0.7 0.5 0.6 | 0.5A7 0.5 0.6 | 0.5k
SS (PPl B mg/0 60 URIE| UREG| RN KRG R DRI UREE| UREE| RN DRI R 4
REH mg/0 120 2.7 2.8 2.7 2.5 2.7 2.5 2.5 2.4 2.3 2.6 2.8 3.3
DTSR X 0 1) OKIGEE, H1 /1S 7 AP LR
R AR E R AR R (3 1 BEREESY)
BKEE T o MER| 1A 2 530 E2IE| 550 A EoE A ol | Zg1oMml | E11ml [ EE120A
A5y 3 ok e JLUE(E 4/22 5/27 6/10 7/1 8/5 9/9 10/7 11/2 12/20 1/217 2/17 3/10
3 ERUREER mS/m — 11 11 11 11 11 11 11 11 10 10 10 10
o A A mg/ 0 - 7 7 7 7 7 6 6 6 7 7 7 7
» BRISYE mS/m — 10 10 10 10 10 10 9.7 9.7 10 9.7 9.6 9.7
" sfA A mg/ 0 - 8 7 7 7 7 7 7 7 8 8 8 8




